4. Anglo-French Struggle (Carnatic Wars)

Exercise

1 A. Question

Choose the correct answer:

The Carnatic Wars were fought in .................
A.1736-1744

B. 1740-1744

C.1746-1763

Answer

The Carnatic Wars were fought in 1746-1763. The first Carnatic war was
fought in A.D. 1746-A.D. 1748; Second Carnatic war was fought in A.D. 1748-
A.D. 1754; Third Carnatic war was fought in A.D. 1756- A.D. 1763.

1 B. Question

Choose the correct answer:

The battle of Plassey was fought in ................ .
A. 1764

B.1757

C.1765

Answer

The battle of Plassey was fought in 1757. The battle of Plassey took place in a
village called Plassey near Calcutta on 23rd June 1757. It was fought between
the Robert Clive of the British East India Company and the Nawab of Bengal
Siraj-Ud-daulah.

1 C. Question

Choose the correct answer:

The founder of the British Empire in India was ...................
A. Robert Clive

B. Dupleix



C. Mir Jafar
Answer

The founder of the British Empire in India was Robert Clive. It is because
Robert Clive became the governor of Bengal after the battle of Buxar which
made English East India Company an ultimate power in India. Also, it was his
constant victory in the battles and wars which made him the founder of the
British Empire in India.

1 D. Question

Choose the correct answer:

Court-de-Lally was defeated by Sir Eyre Coote at the battle of ..............
A. Madras

B. St. Thomas

C. Wandiwash

Answer

Court-de-Lally was defeated by Sir Eyre Coote in the battle of Wandiwash.
The battle was fought between the Count-de-Lally, Bussy with the British
General Sir Eyre Coote in 1760. As a result, Court-de-Lally surrendered
Pondicherry to the British.

2 A. Question

Fill in the Blanks:

The capital of Carnatic was .................
Answer

Arcot

Explanation: The capital of Carnatic was Arcot. Carnatic was originally a
Mughal Province under the ruler of Nawab Anwar-ud-Din. He was an
independent ruler of Carnatic and Arcot was its capital.

2 B. Question

Fill in the Blanks:

The Hero of Arcot was ................ .
Answer

Robert Clive

Explanation: The Hero of Arcot was Robert Clive. Robert Clive, who was the
Clerk of the English East India Company attacked the capital of Carnatic,



Arcot. He made Mohammed Ali the Nawab of Arcot by defeating Chanda
Sahib. It is because of this Robert Clive was known as the ‘Hero of Arcot!

2 C. Question
Fill in the Blanks:

The Battle of ................... made the English East India company a sovereign
power in India.

Answer
Buxar

Explanation: The Battle of Buxar made the English East India company a
sovereign power in India. On October 22, 1764 battle of Buxar was fought
between Mir Qasim, Shuja-ud-daulah, and Shah Alam II with the Britishers.
Britishers defeated all of them, and the treaty of Allahabad was signed. Under
which Shuja-ud-daulah paid the war indemnity and gave up Kara and
Allahabad to the British. Shah Alam II provided with the annual pension and
granted Diwani rights to the British.

NOTES - Indemnity - It means money paid for the loss or damage (in war).
Diwani Rights- It means the Britishers were given rights to collect revenues.
2 D. Question

Fill in the Blanks:

La Bourdonnais was the French Governor of ..................

Answer

Mauritius

Explanation: La Bourdonnais was the French Governor of Mauritius. Dupleix,
the French Governor of Pondicherry called La Bourdonnais, the French
Governor of Mauritius to capture Madras. In 1746, La Bourdonnais
successfully attacked and captured Madras.

3. Question

Match the following:

1. First Carnatic War i) Treaty of Allahabad
2. Third Carnatic War ii) Village near Calcutta
3. Plassey iii) Aix-la-Chappelle

4. Battle of Buxar iv) Treaty of Paris

Answer



1. First Carnatic War i) Aix-la-Chappelle

2. Third Carnatic War i) Treaty of Paris

3. Plassey iii) Village near Calcutta
4. Battle of Buxar iv) Treaty of Allahabad
Explanation:

1. The first Carnatic war took place in A.D.1746-A.D.1748. [t was fought
between the English and the French. The treaty of Aix-la-Chappelle was
signed in 1748, and as a result, English got Madras back.

2. The third Carnatic War was fought in A.D.1756-A.D.1763. The treaty of
Paris was signed in A.D. 1763 between French and English. French received
Pondicherry, Chandranagore, Mahe, and Karaikal but they were ordered not
to fortify them. All of this led to the French gradually losing their power and
prestige in India. At the end of this war, the British established their
stronghold in India.

3. The Battle of Plassey was fought in 23rd June, A.D.1757 at the village called
Plassey near Calcutta. It was fought between Robert Clive and the Nawab of
Bengal Siraj-Ud-daulah. As a result, Mir Jafar became the Nawab of Bengal.

4. The battle of Buxar was fought on October 22, 1764, between the Britishers
on one side and Mir Qasim, Shuja-ud-daulah and Shah Alam II on the other
side. British won the battle, and the treaty of Allahabad was signed. Under
which Shuja-ud-daulah paid 50 lakh as the war indemnity and gave up Kara
and Allahabad to the British. Shah Alam II provided with the annual pension
of 26 Lakh rupees, and he granted Diwani rights to the British Bihar, Bengal,
and Orissa.

4 A. Question

Answer in one word:

What do you know about the Black Hole Tragedy?
Answer

During the battle of Plassey, the English became the cause of trouble for Siraj-
ud-daulah, the Nawab of Bengal. When the Nawab of Bengal asked the
Britishers not to strengthen their fortification in Bengal, they refused to do
so. Also, the Britishers were misusing the power given to them for doing trade
in India. This made Nawab angry, and he captured Calcutta along with his
army. He locked 146 British soldiers in a small room. Except 23, all of them
died due to suffocation. This incident came to be known as the black hole
tragedy.

4 B. Question
Answer in one word:

Write any three causes for the success of the British in India.



Answer

The Britishers came to India for trading purpose, but they generated interest
in the internal affairs of the state. Gradually with the power of trade
privileges and due to their other policies, they took complete control of India.
The three causes for the success of the British power in India are as follows:-

e When the British took complete control of India, they were supported by
their home government of England. At that point in time, the British were
commercially brilliant.

e While fighting in India with the Britishers, French were also fighting wars in
Europe which also affected French capabilities in India.

» As compared to French, the naval power of Britishers was excellent. Also,
British officers cooperation was much efficient than their counterparts.

4 C. Question

Answer in one word:

What do you know about Robert Clive’s Dual System of Governments?
Answer

In 1765, Robert Clive became the Governor of Bengal. He made his position
stronger by his successful conquests and administrative reforms. He
introduces a new system according to which, Britishers will take full
advantage of the powers given to them, and at the same time they have no
responsibility. And as a result, the Nawabs were given all the responsibilities
and no power. This system is known as Dual, Dyarchy, or Double system of
Government.

4 D. Question

Answer in one word:

What were the causes for the First Anglo Mysore War?
Answer

The First Anglo Mysore War took place in A.D. 1767-A.D.1769 between Hyder
Ali and the British. As a result, the treaty of Madras was signed in 1769. The
causes for the First Anglo Mysore war are as follows:-

e At this time, Mysore was under the control of Hyder Ali which was
considered to be one of the powerful kingdoms. Britishers became anxious
about the growing power of Hyder Ali.

e Also, Hyder Ali established a friendly relation with the French who are the
biggest enemies of English. This led to the First Anglo Mysore war.

5. Question

Answer in detail:



Give an account of the causes and the result of the second and third Carnatic
Wars.

Answer

The Second Carnatic war was fought in A.D. 1748-A.D. 1754. The various
causes of the Second Carnatic war are as follows:-

e The war started with the conflict between the Nizam of Hyderabad and the
Nawab of Carnatic.

e In 1748, Asaf Shah, the Nizam of Hyderabad. This resulted in, his son, and
grandson Nasir Jung and Muzzafar Jung respectively competing for the
throne. During the same time, Dost Ali, The Nawab of Carnatic died. This
resulted in the conflict between Anwar-ud-din and his son-in-law Chanda
Sahib who were competing for the throne of Arcot. As a result of all this,
Chanda Sahib and Muzzafar Jung were supported by the French. Hence,
helplessness made Nasir Jung and Anwar-ud-din to take assistance from the
English, due to which the war was started.

In 1754, the war ended, and in 1755 the treaty of Pondicherry was signed
according to which both French and English decided to not to interfere in
Internal affairs of the princely states and gave back the territories captured
during the war.

The third Carnatic War was started between Nawab of Carnatic and Nizam of
Hyderabad and ended with the conflict between French and English in
A.D.1756-A.D.1763. The causes of the Third Carnatic war were:-

* One of the main cause of the Third Carnatic war was the 7 years war in
1956 between British and French, which started in Europe and America and
due to this war, another war began in India which is known as third Carnatic
war.

After the end of this war, the British established their stronghold in India. In
1763, the treaty of Paris was signed between French and English. French
received Pondicherry, Chandranagore, Mahe, and Karaikal but they ordered
not to fortify them. All of this led to the French gradually losing their power
and prestige in India.

Formative Assessment
1. Question
On the outline map of India mark the important places of Carnatic wars.

Answer
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2. Question

Write an essay (about 15 lines) on why you think that The Battle of Plassey
was a turning point in the History of India.

Answer

The Battle of Plassey was fought at the village called Plassey near Calcutta in
23rd June, A.D.1757. It was fought between the British East India Company
and the Nawab of Bengal Siraj-Ud-Daulah. Following are the reasons which
prove that the Battle of Plassey was a turning point in the history of India.

» The battle of Plassey is considered to be the first victory of the Britishers
against the princely states. They got the possession of one of the Indian
Territory to rule and establish their power. That is why this battle is the
turning point for Indian history.

 The victory of British EIC made them increase their influence in India. They
got the Stronghold of Bengal and appointed Mir Jafar as the Nawab of Bengal.

» As Mir Jafar was appointed by the British, he constantly had to fulfill all the
demands of the Britishers which ultimately led to the Britishers taking over
the control of India.



 As the Britishers consolidated their position in Bengal which helped
Britishers to grow economically. This, as a result, made it easy for the British
to drive French out of India.

« After this battle, the British started abusing Indians through various
policies which only helped them to expand their area of influence.

 The British successfully made Mir Jafar sign a Treaty according to which
the land within Mahratta Ditch (Kolkata) and between Calcutta and the sea
brought under the control of British.

» The possession of Bengal provided them with the base to fight with other
contemporary powers of India such as Marathas, Mysore, etc.

NOTES- Princely states are the small states which are under the control of
the local or regional ruler. There were a total of 563 princely states also
known as native states.

3. Question
Prepare a timeline chart to show the establishment of British rule in India.

Answer

YEAR EVENTS

1600 The East India Company (EIC) is formed
1600.

1611 The East India Company founded a trading
post at Machilipatnam in the Andhra Pradesh
region of India.; The East India Company
began building factories in the Surat region
of India;

1612 King James, I sent Thomas Roe to India. His
instructions were to meet the Mughal
Emperor Nuruddin Salim Jahangir and
arrange a commercial treaty.

1615 James, I agreed on a commercial treaty with
Muahal Emperor Nurudin Salim Tahanair.
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exclusive rights to build factories in Surat.

1634 The Mughal Emperor invited the East India
Company to trade in the Bengal region of
India.

1640 The East India Company established Fort St

George, a trading centre in Madras.

27th March 1668

King Charles IT gave Bombay, which he had
acquired from the Portuguese as part of his
wife’s dowry, to the East India Company.

1670

The power of the East India Company was
increased when Charles II granted the
Company the right to acquire territory, to
mint money, to command fortresses, to make
laws and use force to protect assets.

1690

The East India Company established a
trading post in the Calcutta region of India.

1694

An act was passed that allowed any English
company to trade with India.

20th June 1756

Siraj Ud Daulah, the new Nawab of Bengal,
attacked the English at Kasim bazar and took
the fort at Calcutta. Those captured were
taken and put into a small cell where 123
prisoners allegedly died. Known as the Black
Hole of Calcutta, the incident provoked
outrage in England.




2nd January 1757

Robert Clive regained control of Calcutta.

23rd June 1757

The Battle of Plassey was fought between the
East India Company, led by Robert Clive, and
Siraj-ud-daula, the Nawab of Bengal, was a
victory for the English and allowed them to
take control of Bengal.

10th February
1763

The Treaty of Paris brought an end to the
Seven Years War. Under the terms of the
agreement, France regained Pondicherry,
Mahe, Karaikal, Yanam, and Chandernagar in
India, all of which had been taken from
France by the British during the war.
Although the French were banned from
keeping troops in Bengal elsewhere the same
did not apply, and they remained a threat to
the East India Company.

1813

East India Company Act 1813 asserted
British control over Indian territories
controlled by the Company. It also removed
the Company’s trade monopoly with India,
though it retained a monopoly on trade in tea
and trade with China. Extended the
Company's charter for a further twenty
years.

1857

The Indian Mutiny began after the British
introduced the Enfield Rifle that used
cartridges greased with pig or cow fat.
Soldiers had to bite off the end of the
cartridge prior to use. The majority of Indian
soldiers were either Muslim or Hindu and
refused to put the cartridges into their
mouths. The protest of the soldiers spread to
a general uprising against the rule of the
East India Company.

1858

Government of India Act 1858 -




1ne East Inala Lompany was hationanzea by
the British government

1873

East India Stock Dividend Redemption Act
formally dissolved the East India Company
and ceded all governmental duties over India
to the Crown.




